W= A==t Bt | IREE | FER
—FRE_HNE AR 110100 301 01
—FRE_HNE HEE 110073 301 05
—FRE_HNE HEE 110046 301 07
—FRE_HNE HEE 110031 301 14
—FRE_INEE HE 110050 301 16
—FRE_INEE HE 110085 301 17
—FRE_INEE HE 110081 302 19
—FRE_HE HEE 110101 302 22
—FRE_HE HEE 110091 302 30
—FRE_HNE HEE 110028 302 34
—FRE_HE HEE 110033 302 42
—FRE_INEE HEE 110080 303 18
—FRE_INEE HEE 110018 303 23
—FRE_INEE HEE 110022 303 25
—FRE_INEE HE 110093 303 34
—FRE_INEE HEE 110098 303 40
—FRE_INEE HE 190009 304 09
—FRE_INEE HE 190016 304 16
—FRE_INEE HE 190025 304 25
—FRE_INEE HE 190027 304 27
—FRE_HE HEA 190030 304 30

H&E 58 21




AR = Bl H = B2or | PARTE | KRR
—FRE_IGE /im 110039 302 06
—FRE_IE EEB 110071 302 07
—FRE_INEE AR 110064 302 39
—FRE_INEE /im 110067 303 01
—FRE_INEE AR 110001 303 02
—FRE_INEE AR 110034 303 03
—FRE_INEE /im 110004 303 06
—FRE_INEE AR 110068 303 07
—FRE_INEE AR 110070 303 08
—FRE_INEE /im 110042 303 09
:sz}i%_gl\nu J HE 110075 303 10
—FRE_INEE AEh 110011 303 11
—FRE_INEE /inu 110013 303 14
:sz}i%_gl\nu J HE 110047 303 16
—FRE_INEE AEh 110083 303 19
—FRE_INEE /inu 110015 303 20
—FRE_INEE AR 190002 304 02
—FRE_IGE AEh 190007 304 07
—FRE_IGE /im 190015 304 15
—FRE_IGE AEh 190018 304 18
—FRE_IGE AEh 190026 304 26

AR 21




Pkt nd=E=t 2ot | YRRt | KESR

—FRFE_IE oty 110040 301 04
—FRE_IE oty 110048 301 08
—FRFE_IE oty 110053 301 10
—FRE_INEE ke 110017 301 15

FARE_IME & 110072 302 08

FARE_IMEE 110049 302 21

110030 302 36

—ERE_SE

FARE_IME 110096 302 40

—FRFE_IE 110025 303 31

5
f=is)

5

=

&

FARE_IME &
=)

5

f=is)

5

f=is)

5

B
B
B
B 110062 302 37
B
B
B

—FRFE_IE 110097 303 39

258 518N 11




W= B E = 2ot | YRRt | KESR
—FRFE_IE AR 110006 301 03
—FRE_INEE g 110059 301 13
—FRFE_IE AR 110038 302 05
—FRE_INEE TR 110008 302 11
—FRE_INEE TR 110076 302 15
—FRE_INEE TR 110044 302 17
—FRFE_IE AR 110020 302 35
—FRE_INEE TR 110035 303 05
—FRE_INEE TR 110077 303 12
—FRFE_IE AR 110079 303 15
—FRE_INEE TR 110054 303 24
—FRFE_IE AR 110089 303 26
—FRE_INEE TR 110055 303 27
—FRFE_IE AR 110024 303 30
—FRE_INEE TR 110058 303 32
—FRE_INEE TR 110029 303 37
—FRFE_IE AR 110066 303 41
—FRFE_IE AR 190005 304 05
—FRE_INEE TR 190011 304 11
—FRE_INEE TR 190021 304 21
—FRFE_IE AR 190028 304 28

AR 5T EA 21




Pkt A=kt 2ot | YRRt | KESR
—FRFE_IE L EE R 110005 301 02
—FRE_IE L EE R 110084 301 09
—FRFE_IE L EE R 110007 302 09
—FRE_HNE HE AR 110009 302 12
—FRFE_IE L EE R 110021 302 29
—FRE_IE L EE R 110065 302 41
—FRFE_IE A 110090 303 28
—FRFE_IE L A 110056 303 29
—FRE_HE L EE R 190006 304 06
—FRFE_IE L EE R 190012 304 12
—FRFE_IE L EE R 190023 304 23

i EgaE 512N 11




_BEE R B | RREE | B
EE%&%:%% 5% X 110043 301 06
—ERE_SE 8. 110019 | 301 | 11
—ERE_SE 8. 110002 | 301 | 12
EE%&%:%% =3 110095 301 18
EE%&%:%% =3 110036 302 02
EE%&%:%% §E X 110037 302 03
—ERE_SE 8. 110041 302 | 10
—ERE_SE 8. 110074 | 302 | 14
—ERE_SE 8. 110045 | 302 | 18
EE%&%:%% =34 110082 302 20
EE%&%:%% =34 110026 302 32
EE%&%:%% =34 110027 302 33
—ERE_SE 8% 110003 | 303 | 04
EE%&%:%% 5% X 110078 303 13
EE%&%:%% 5% X 110016 303 21
EE%&%:%% % 3 110094 303 35
EE%&%:%% =3 190003 304 03
EE%&%:%% 5% 190008 304 08
EE%&%:%% 5% 190013 304 13
—ERE_SE 5 190014 | 304 | 14
L 20




Pkt A=kt 2ot | YRRt | KESR
—FRE_INE RERE(RIEE) | 110069 302 04
—FRE_INE Hraiess (BR16#&) [ 110010 302 13
—FRE_INE ReERE(RIEE) | 110051 302 23
—FRE_INEE RERE(RIEE) | 110052 302 25
—FRE_IN:E ReERE(RIEE) | 110087 302 27
—FRE_INE Hraisas (BR16#E) | 110057 302 31
—FRE_INE RERAE(RIEE) | 190020 304 20
—FRE_INEE RERE(RIEE) | 190022 304 22
—FRE_INE RERAE(RIEE) | 190024 304 24

HEEIEA(BRIEE) 5T E 9




R TE S _
—ERE S e ik ig,;; B% | ReE | E%
—ERE_IE o ( %L) 110002 | 302 | o1
ERE NS HEBGEES) 1002|302 | 16
=ERE T INE ;EE; ;ﬂg(ﬁﬁﬁi) 110086 302 26
—FRE I ;EE; = ( E%L) 110088 302 28
SERE SE SERBGEEE) | Ti00s2] 302 | 39
—ERE SNk — @’@%U 110014 | 303 | 17
“ERE I — (E'TE%L) 110060 | 303 | 33
“ERE I — (E'TE%L) 110063 | 303 | 38
RS SN ot (’TE%L) 190004 | 304 | 04
“ERE I EatE (Eﬁﬁi) 190017 | 304 | 17
=EQE SE Zatoh ;n%(ﬁ‘m‘ BiE) | 190019 | 304 19
'*EZ_E e 2R A st s E%L) 190029 304 29
Kagdoa (Eﬁ;ﬁ;L) =8 >




